“1/GeVA

T
o
o

tbar

1/od?c/ dp™dp

Ratio to ATLAS

T

[HEN
o
o

1077

1078

[EEY

0.5

5 m

—h—

13000 GeV pp

top
T

P

N
N N
~ ~
~ ~
~ ~
~ ~
~ N
~ ~

- Herwig++ 2.7.1 default >
- Herwig 7.2.1 default

Pythia 8.308 default R

(ATLAS semileptonic ttbar)

L 11 ||||| |
Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

__L/H\% % ] 1
L @Gg{a ______________________ ] -
| ‘é,. o E%] |
L 6} _______________________________ é) _
= ‘ 0.5
A R . . A R L A R . . L
500 1000 1500 2000

pt" [Gev], pthar{t} in [150,1000] [GeV]



	Contents
	Page 1


